
rjtPjk; 
 

Fiwe;J nry;Yk; kPjp Kiwapy; tl;b fzpj;jy; 

cjhuzk; : jpU Fkud; 12% Mz;L tl;b mwtplg;gLk; xU tq;fpapy; ,Ue;J xU 
tpahghuf; fldhf & 50>000.00 fldhfg; ngw;whu;. mf;flid 5 rk khjj; jtidj; 
njhiffspy; nrYj;jp Kbj;jy; Ntz;Lk;. mtu; nrYj;j Ntz;ba xU khjj; jtidj; 
njhifapd; ngWkhdj;ijf; fhz;f. 
 

ngw;Wf; nfhz;l fld;     = &.50>000 

tl;bapd;wp> xU jtizapd; fld; ngWkhdk; = &.50>000 
          5 

        = &.10>000 
/ xt;nthU khjj;jpYk; fld; kPjp &.10>000 ,dhy; FiwtilAk; / vQ;rp tUk; fld; 
njhiff;Nf tl;b mwtplg;gLk;. 
 

/ ,q;F Mz;L tl;b tPjk; = 12% 

khj tl;b tPjk;  = 12 X 1  = 1% 

      12 

/ Kjy; khjj;jpw;fhd tl;b =    1  X 50,000 = &.500 

          100 

 

,uz;lhk; khjj;jpw;fhd tl;b =    1  X 40,000 = &.400 

          100 
 

%d;whk; khjj;jpw;fhd tl;b =    1  X 30,000 = &.300 

          100 
 

ehd;fhk; khjj;jpw;fhd tl;b =    1  X ……………. = &. ………. 

          100 
 

%d;whk; khjj;jpw;fhd tl;b =    1  X ……………. = &. ………. 

          100 

 

/ nkhj;j tl;b = &.500 + &.400 + &.300 + &. ……. + &. ……. =  &.1500 
 

/ nrYj;j Ntz;ba nkhj;j gzk; = &.50000 +  &.1500 = &.51500 
 

khfhz fy;tpj; jpizf;fsk; - thuhe;jg; ghlrhiy 

ghlk;:  - fzpjk; 

juk;: 11 

Mf;fk;: Mrpupia  V.vk;.vg;.e];upd ; 
Nf/ Nffhiy rh`puh kfh tpj;jpahyak; 

thuk;  - 01 



/ xU khj jtidj; njhif = &.51500 =  &.5150 
      10 
 
vdpDk; ,k;Kiw kpfTk; ePz;ljhfTk;> fhyk; nrytopg;gjhfTk; ,Ug;gjhy;> vspjhf 
tl;bia fzpf;f gpd;tUk; Kiwiag; gad;gLj;JNthk;. 
 

,q;F “khj myFfspd;” vz;zpf;if fUjg;gLk; 
 
,jw;fhf gpd;tUk; gbKiwia ghug;Nghk;. 
 
,q;F xU khjj;jpw;F nrYj;jNtz;ba xU fld; gFjpf;fhd tl;b  
 

         = 1 X  &.10000 
          100 
 
,jw;Nfw;g nrYj;jNtz;ba nkhj;j tl;b 

= &.100 X 5 + &.100 X 4 + &.100 X 3 + &.100 X 2 + &.100 X 1. 

=&.100 (5 + 4 + 3 + 2 + 1)  = &.100 X 15 = &.1500 
 
,q;F 15 vdg;gLtJ 5 khjq;fspy; nrYj;Jtjw;F vQ;rpAs;s fld; gFjpfspd; $l;Lj; 
njhif> mjhtJ khj myFfspd; vz;zpf;if MFk;. 
 

,jid ,d;Dk; ,yFthf „$l;ly; tpUj;jp” cgNahfpg;gjd; %yk; fzpf;fyhk; 

5 + 4 + 3 + 2 + 1 = 15 

mjhtJ Sn = 
 

 
       =   

 

 
             =  

 

 
      = 15 

 

/ khj myFfspd; vz;zpf;if = 
 

 
       

 

/ nkhj;j tl;bahdJ NkNy &.100 X 15  vd;gjhy; ngwg;gl;lJ : mjhtJ 
 

nkhj;j tl;b = xU khj myFf;fhd tl;b X khj myFfspd; vz;zpf;if 
 
/ ,r;RUf;fkhd Kiwapy; gpd;tUk; fzpj;jiy nra;Nthk; 
 
cld; fhRf;F &.150000 Md xU Nkhl;lhu; irf;fpis Kjypy; &.30000 IAk; kPjpia 

24% Mz;L tl;bAld; rkkhd khjj; jtifj; njhiffspy; 2 Jz;Lfspy; nrYj;jp 
Kbf;f. Fiwe;J nry;Yk; kPjp Kiwapy; nrYj;j Ntz;ba xU jtizj; njhifapd; 
ngWkhdj;ijf; fhz;f. 
 

Nkhl;lhu; irf;fpspd; ngWkhdk; = &.150000 

Kjypy; nrYj;j Ntz;ba gzk;  = &. …………… 
 

/ nrYj;Jtjw;F cs;s fld;  = &.150000 - &. ……….  = &. ………. 
 

(b) (a) 

(a) 



fld; nrYj;j Ntz;ba jtizj; njhiffspd; vz;zpf;if = 24 khjq;fs; 
 

/xU khjj;jpy; nrYj;j Ntz;ba fld; gFjp = &………   24 = &. ………. 

xU khj myF tl;b = 
  

   
 x 

 

  
 x ……… = &……… 

 
    khj tl;b 
 

khj myFfspd; vz;zpf;if = 
  

 
 (….. + 1)  = …….. 

 

/ nkhj;j tl;b = &……. x ……. = &…… 
 

/ nrYj;j Ntz;ba nkhj;j gzk;  = &…… + &…… = &……  
 

/ 1 khj jtiz njhif  = &……   24 = &. …… 

 

(i) (h) 

(h) (g) (b) 

(g) (f) (d) 

(f) (e) 
(e) 

(d) (c) 

(c) (b) 


